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E4 {1 PR BER HifE
=i F= 45% 225% 368.00 m ( 111.32 %)
R ERTE— /NS 368.00 m’ ( 111.32 #%)
492,493.. B4 0.00 m?( 0.00 #£)
1114E10H4H T ATERES K m? ( 0.00 #1)
J T R & 368.00 m’ ( 111.32 %)
TRTERL A = = 828.00 m? ( 250.47 £F)
LA = m” ( 0.00 ¥1)
H A mEE = m” ( 0.00 £F)
&% 828.00 m? ( 250.47 #7)
LEIAIEE (a) = 1,140.95 * 7.0% = 79.87 m’ ( 24.16 1)
LA (b) = 1,140.95 * 8.0% = 91.28 m? ( 27.61 H)
15%%5t(c) = 964.62 * 10% = 96.46 m’ ( 29.18 #1)
fE B (d)(E) = 828.00 * 10.0% = 82.80 m’ ( 25.05 £7)
HEfEfSEG) = 828.00 * 4% = 33.12 m’ ( 10.02 £7)
A B 828.00 * 2.5% 20.70 m? ( 6.26 %)
SEHEALERKG) = = 21.00 m’ ( 6.35 HF)
48 R IRTIRE(E) = 828.00 + 333.95 (Ca~Cj-Cb) =| 1,161.95 m? ( 351.49 £F)
EEIE I 165.60 /8% 3 F = 62.10 m? ( 18.79 £F)
TN =EEG) = 20440 * 2 F = 588.80 m” ( 178.11 #%)
MEPHEETETE | b+E+RG % 300%  +H) =| 149196 m’( 451.32 £1)
REZM = 1,491.96 * 1.04 = 1,551.64 m?( 469.37 +¥)
CETEEITEY = =| 1,551.64 m®( 469.37 )
KEfEI IR S = (G+E+F) = 1,812.85 m’ ( 548.39 i)
TRERE = 1,161.95 - /120 = 10 #
ER{EE = 5
WTEEEERE=  (12.13%/3) &5t = 15 &
TETEREE = 1162 /100 = 12 #
= a5t = 2 =
EEEHIfEmax = 165.6 = 165.60 m? ( 50.09 #F)
BEAZFfEmax = 368.00 * 80.0% = 294.40 m* ( 89.06 )
PRI = 469.37 =+ H F7E = 305 = 22.35 /P
=R = 15 =+ 20 F = 0.73 b
PHEELE = 1,551.64 = 965 m> = 1.61
THEERLE = 1,551.64 =+ 368.00 m? = 4.2
NE%EE = 482,63 = 1,491.96 m? = 32.35%
SRETREE 1,904.12  * T = TEGH A& B Rk )
FibE: 3m TC(E S Rk )
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